SUPPLEMENTARY MATERIALS
Supplementary materials for the manuscript “Interactions between Parental Alcohol-Specific Rules and Risk Personalities in the Prediction of Adolescent Alcohol Use” consist of details regarding the modeling of alcohol data based on indicators of Weekly Alcoholic Units (here Alc1-Alc4), Monthly Heavy Drinking Episodes (here Binge1-Binge4) and First Alcoholic Drink (here First1-First4). Part 1 describes the basic setup for the LCA syntaxes estimating the model with different numbers of classes. Part 2 describes the transition model used to verify the selected class structure with means from the LCA model selected (the three class model), and saves the most likely class membership per participant. Part 3 describes SPSS code used to establish trajectories.

Part 1: annotated example of lca syntax (mplus 7.0):
INPUT INSTRUCTIONS

        title: BICoptimizationLCA
        data:
              file= DataSource.dat;
        variable:
!Lists the names for the variables in the data file, which contained data for all four time points.
              names =
  					IDnr
                              Alc1
                              Alc2
                              Alc3		
                              Alc4
                              Binge1
                              Binge2
                              Binge3
                              Binge4
                              First1
                              First2
                              First3
                              First4
                              ;
              missing = all (-999);
              usevariables = Alc1 Binge1 First1;
              count = Alc1 Binge1; !This command denotes the format of the indicators
              categorical = First1; !This command denotes the format of the indicators
              classes = c1(2); !The number in parentheses denotes the number of classes

        analysis:
                        type=mixture;
                        STITERATIONS = 10;
                        STARTS = 25 10;
	! If no further model indications are given, Mplus constructs classes indicated by all 
!Usevariables.


    model: 		%c1#1% !This command denotes that commands below apply to class 1.
[Alc1@-15]; !This command fixes the estimated mean for weekly alcohol use at zero for class 1.
[Binge1@-15]; !This command fixes the estimated mean for weekly alcohol use at zero for class 1.
!All other commands for the estimation of means and proportions for each class are automatic and implicit. Listing no further restrictions under the model: command means that all other indicator means and proportions for all other classes are freely estimated.

output:  

Part 2: annotated example of lta syntax (mplus 7.0):
  title: BICoptimizationLTA
          data:
            file= Boys2.dat;
            variable:
                  names =
      					IDnr
                                  Alc1
                                  Alc2
                                  Alc3		
                                  Alc4
                                  Binge1
                                  Binge2
                                  Binge3
                                  Binge4
                                  First1
                                  First2
                                  First3
                                  First4
                                  ;
                  missing = all (-999);
                  usevariables = Alc1
                                  Alc2
                                  Alc3		
                                  Alc4
                                  Binge1
                                  Binge2
                                  Binge3
                                  Binge4
                                  First1
                                  First2
                                  First3
                                  First4
                                  ;
                  IDVARIABLE IS IDnr;
                  count = Alc1  Alc2 Alc3 Alc4 Binge1 Binge2
                                  Binge3
                                  Binge4;
                  categorical =  First1 First2
                                  First3
                                  First4;
                classes = c1(3) c2(3) c3(3) c4(3);

          analysis:
                          type=mixture;
                          !STITERATIONS = 20;
                          STARTS = 50 20;
    					!process=4;


      model: %overall%

c4 on c3;
c3 on c2;
c2 on c1;

      model c1: 	%c1#1%
                  [Alc1@-15];
                  [Binge1@-15];
                  [First1$1@0.163]   ;
                  %c1#2%
                  [Alc1@0.227]       ;
                  [Binge1@-1.308]     ;
                  [First1$1@-0.710]   ;
                  %c1#3%
                  [Alc1@2.091] 	   ;
                  [Binge1@-0.125]     ;
                  [First1$1@-0.635]   ;
      model c2: 	%c2#1%
                  [Alc2@-15];
                  [Binge2@-15];
                  [First2$1@0.189]   ;
                  %c2#2%
                  [Alc2@0.209]       ;
                  [Binge2@-1.660]     ;
                  [First2$1@-0.442]   ;
                  %c2#3%
                  [Alc2@2.123]       ;
                  [Binge2@0.087]     ;
                  [First2$1@-0.540]   ;
      model c3: 	%c3#1%
                  [Alc3@-15]
                  [Binge3@-15];
                  [First3$1@0.389]   ;
                  %c3#2%
                  [Alc3@0.615]       ;
                  [Binge3@-0.438]     ;
                  [First3$1@-1.128]   ;
                  %c3#3%
                  [Alc3@2.396]       ;
                  [Binge3@0.085]     ;
                  [First3$1@-0.463]   ;
      model c4: 	%c4#1%
                  [Alc4@-15]
    			  [Binge4@-15];
                  [First4$1@0.737]   ;
                  %c4#2%
                  [Alc4@0.490]       ;
                  [Binge4@-1.103]     ;
                  [First4$1@-0.634]   ;
                  %c4#3%
                  [Alc4@2.373]       ;
                  [Binge4@0.114]     ;
                  [First4$1@-0.394]   ;

          output:

          Savedata:
          FILE IS	MLCMboysNoMI.dat;
          Save = cprob;

Part 3: SPSS syntax of common trajectory indication

*1	non-drink
*2	onset
*3	Heavy drinking
*4	stable low
*5	Unclassified.
*6	Miscode catch
RECODE MLClassPatternBoys ('1111'=1) ('1112'=2) ('1113'=3) ('1122'=2) ('1123'=3) ('1133'=3) ('1222'=2) ('1223'=3) 
    ('1233'=3)  ('1322'=5) ('1332'=3) ('1333'=3) ('2111'=5) ('2222'=4) ('2223'=3) ('2232'=3) ('2233'=3) ('2333'=3) ('3111'=5) 
[bookmark: _GoBack] ('3222'=5) ('3322'=3)('3332'=3)('3333'=3)(ELSE=6)
   INTO MLClassPatternGroupsBoys.
RECODE MLClassPatternGirls ('1111'=1) ('1112'=2) ('1113'=3) ('1122'=2) ('1123'=3) ('1133'=3) ('1222'=2) ('1223'=3) 
    ('1233'=3)  ('1322'=5) ('1332'=3) ('1333'=3) ('2111'=5) ('2222'=4) ('2223'=3) ('2232'=3) ('2233'=3) ('2333'=3) ('3111'=5) 
 ('3222'=5) ('3322'=3)('3332'=3)('3333'=5)(ELSE=6)
   INTO MLClassPatternGroupsGirls.
*Three out of 252 participants were coded with code ‘5’ indicating unclassifiable cases in the current data.
*These participants had the following trajectory indication: ‘3111’, ‘3222’ and ‘2111’. Such cases concern a separate trajectory for absolute descent after regular drinking, which is not of interest in the current study because of their extremely infrequent occurrence.

